EARAROBEEIERT — 2 N— IBISH —F

20165128158 (k) 11EI1II4H

mﬂﬁ%—ﬂﬁ C2121314 EEE R
[x&<£] 1 % :1,000,000 @ ~ 23 :300,000 M ~ 337 :180,000 @ ~ 4 3 :120,000 M ~ 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i1l [vne=a o6 E%%Eh—ﬁﬁ 1:(3_9).7 5-5-4-2 |42.7| — 4 487 Eg?ﬁ (KFH)
LAHLSAN—h BAIT RIS O 1% n—w
2056 | Ky Kxvryy # 4 gﬁaz (11:410/.20) 9-9-10-10 |41.0| — | 11 (4_366) ggﬁg (Aats)
R:TSATLZXEAL B:RAM—LA 4= TATHS
3lgli1| FEvan—+ o 4 Sﬁ[l_ﬁgIE% 1(74(1):; 10-10-9-8 |41.2| — | 10 | 431 igg% (1)
Li¥vZowIT4L B:RE2—U—FA b O I AWES kT r—i
417010 "= 17T 4 g’iﬁg—F 1(:3%2 2-2-1-1 436 — | 1 | 443 %g?:;l&lggﬁ
R:F—TAFN—p BTavFL LT O mr
5 4|V 2E—K M4 g’gkg 1:(410).4 4-4-4-4 | 43.4| — | 8 | 477 gﬁég (hed)
LHAL hF = BRIV NSTIF— (-2) HhEFHTT—L
6 D7l e 4 4 gg?(i)%%i’a 1:(4;).4 1M-11-11-11| 41.8 | — 7 494 ;iz— (1)
R:TSATLH— BieLZATT— (-2) e
7lglip| T F vy b £ 4 gi’%/lozﬁ (11:411/.27> 3-3-3-5 |44.9| — 2 (4_733) ?ﬁiﬁ% (se%n)
R:27)—->e—A—- B:M4273 BE B2
gk — o o7 | FEHEE 1:41.9 7-6-6-5 |44.7| — 9 469 | MRBERZ (JI1E)
3 g| Ty b=423y 54.0 (3/4) (1) | EERE—
L1255 492 B4y b—ED— HE R
ols|s|/N5E/ A5 *oe | B et | TEET Ma) - | 5| 7| BANT (R
QAN 2N By Ao 40 | Fews
10 0| AZEOH I L # 5 gl?;hoﬁ 1:(443).0 1-11-12-12| 43.3 | — 12 | 508 gégg (J118%)
LHYRTLITR BTy KT 71— 49 155 S eag
T RTIN # o4 | Wikt 1:43.2 1-1-2-3 | 46.6| — | 3 | 528 |EAEX (K
1l g | TN TI Y 56.0 M (+g) | FEE
L:azZ /XLy b Biv Ry BORM S
12079 | TT LA MINAF # 5 ?423‘552 1(/;?:)3 57-7-9 |45.8| — | 6 | 445 Eﬂﬁiiﬁ%ﬁé;llw
QiEL/OTO4 BiEAlREAR | genisg
® 1+ —EBIEH
13—7+— 18,10,12,4,(1,9),(3,5),6,11,(2,7)
2ol =3F= 8,10,12,4,1,3,9,5,6,11,(2,7)
83—7— [10.8,12,(1,4),3,9,5,11,6,7,2
4=1=Ch— 10,1,8,4,(3,12),5,11,9,6,7,2
[ RN
B OB 1 790/ 714K 1-6 2,490 % E 1-5 2,120M &R 1-6-11 51,430
B B 1 280M 1-11 2,430 | | # E 1-5 4,830M7 | | 3=E 1-6-11 234,250M
6 820/ 6-11 5,470M B & 1-6 8,060
11 6603 ] 1-6 14,720/

ABICOVWTRDTEEERROODE. TR LIV,




